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10.
1.

PART - |
Chom the correct Answer

Forany three sets A,Band C, (A-B) N (B - C)is equal to

(a) Aonly (b) B only (c) Conly @ ¢
lfU = l{x.:xéN and i<10}. A={1,2,358}and B =_{2.5,6.7,9}, then n((AUB))) is
(a) 1 (b) 2 (c) 4 u (d) 8
'lf'AuB=AnB,then . | _

(a) A»B . (b) A=B 1¢) AcB (d) BcA
IfA = {xy.z) then the number of non-entry sugets of Ais ) _
@87 B8 L o) 8 @7
27 + 12 = — _ .
(@@ . .. O 56 © 53 (4 35
Which one of the following is an irrational number gy

(5) " R () ‘E_ (c)I'T__ e e
4 11

Which one of the following has a terminating decimal expansion?
14

: 8 _ 1
(a) --5— ' (b) — @ - (d) i

PART - I
Amwer any 6 Quest]ons Q.No. 14 is compulsory
erte the set of letters of tha followlng words In Roster form.
(I) ASSESSMENT 2 , (i) PRINCIPAL
Write down the power set of.thé following sets A = {a,b}.
If n(A) = 0. find n(P(A)). ’
Represent A A B through Venn diagram.

Ry V| ' . 9 ' _15 ' - 12
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13.
14.

15,
16.

s

18.

19.
20.

'21. IfA={0,2,4,6,8},B = {x X is a pnme number and x<11} and C {x xeN and 5<x<9} lhen venfy o

IV.

22.
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Find any three rational Numbers between _' andiis e gl T
Snmplrfy the following 5{' +18v3 - 2*1_ 7 ey ‘ |
Represent the followmg numbers rn the smentlf' ic notatron 2000 57

PART lII

Answer any § questlons (Q.No. 21 is compulsory) Sy fr . Sx§=25

Verify A - (B U C)=(A-B) A (A- C) using venn dragrams g

From the venn dlagram venfy that n(AuB) = n(A) + n(B) n(AnB)

Wl

g |
In a party of 60 people, 35 had Vanilla ice celam 30 had Chocolate ice cream All the people 5

had at Ieast one ice cream. Then how many of them had
(r) both Vanllla and Chocolate ice cream.
(u) only Vanllla ice cream.

(m) only Chocolate ice cream.
. . - v - : Lo - 7 -:2 ; v “ : ..
Flnd the value of a and b if . AN aﬁ + b '
L, ' NT+2

' Arrange surds in decendnng order \l_ *J— ‘J"

'Represent 4. 863 on the number line.

Au(BnC) (AuB)n(AUC) ‘ i
PART v | (‘E-

Answer the following: ) T T RO N T e aj"fg

: (a) Construct the ALMN such that M= =7. 5 cm, MN 5 cm, and LN = 8 cm. Locate lts centrord

(OR)

(b) Construct the Centrmd of- APQR whose srdes are PQ 8cm QR 6cm RP 7cm. :
| R : e V/9/Mat/2‘,,f'."
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